5.

What is the value of the digit 2 in each of the numbers below?

(a) 329051

() 712635

Fill in the blanks.
(a) In 320 187, the digit
(b) In 835 129, the digit 8 is in the

(c) In 348 792, the digit 4 is in the

Fill in the blanks.

(a) 153420 =100000 +

(b) 760300=__________ +300
(c) 700000+ 8000 +500+4-=

(d) 200000 + 2000 + 10 =

Read the clues to find the number.

It is a 6-digit number.
The digit 1 is in the ones place.

(b) 903521

(d) 258169

is in the thousands place.

place.

place.

+ 3000 + 420

The greatest digit is in the hundred thousands place.

The value of the digit 5 is 500.

The digit in the ten thousands place is 3 less than the digit in the

hundred thousands place.

The digit in the thousands place stands for 4000.
The digit in the tens place is more than 7 but less than 9.

The number is
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